Sound blaster corporation sells amplifiers for rock bands.  At a price of 800$ per sound system, they sold about 2000 systems per month.   The new general manager for this product, Sticity, decided that they needed more revenues and increased price to $1200.  However sound blaster is now only selling 400 systems per month at the new price.

What is the arc price elasticity for this product?    Is the below correct?
Q1   
2000

Q2   
400

P1    
800

P2    
400

Ep =   %Q    x  P2 +P1


%P       Q2  Q1

      =   400-2000  x  400+800
400-800 2000+400


-1600   x  1200


-400         2400

     =     2


How should price elasticity be used for pricing this product?

What do you recommend for the price of this product higher or lower?

Lower is this correct

What additional information would you request to price this product?

